OJO0O00O00oO0oPETSODOOODOOOOOPDFOOOOO
JO0odoooooooOa
https://www.100test.com/kao_ti2020/454/2021 2022 E8 80 83 E
8 AF 95 E5 A4 A7 E7 ¢88 454027.htmI 0000 OO
OB 00U00d00ddodobooooonoleooooadn
Jododobooodoodooooooouoooooa
Jo0odoododooooooo oo ooono oOod
J0o0dooooooodoooooooooooooa
J0odoboooooodoooooooooooooa
J0o0doo0oooodoooooooooooooa
1000dodooooo0oooooo 200000000
J000o00o0oo0oodooooooooooooon
J3dodooooooon4onouoouonooon
Jo0dobodouoodobooooooooouooboo
Jododobooodoodooooooouoooooa
OOo000000000 1. Asisshown by the graph, ... O O O O
[1 O /in the table. 2. It can be seen from the table that ... [ [J [0 O [
[1 shown graph/concluded figures/estimated statistics 3. [ amount
to..0J 00O 0O O 0O /add up to/come to /sum up to 4. L1 increase
from tod OO OO OO decrease/rise/fall /0drop 5.01 be

[1 three timesas [ (I [0 as [ [ O total output OO U0 OO 00 O the
annual output of [ I 17% rise by 17 per cent steel [ [J (I the daily
output J O O O O O result in a diminished output 6.Compared
with O , (O O O) 7.There is (was) a rapid rise in I be on the
rise/has been sharp increase on the increase/sudden decrease on the
decline/steady decline/gradual fall/slow Odrop D O O O O O O O



bbbttt otddond
bbbttt oddon
bbbttt oddon
Jdodbodotbbotdbplzoboogogouououod
Jubotdbogtdbtobotdbootdbtgtobotdbotdogd
Juotdbootdbotobbotdbootdbototbobotobotdogd
oottt otdogd
Jbobogtdbbbotgtdootgtdbbotgtdgdbobogtdd
bbbttt otgdbnd
bbbttt otddond
bbbttt oddon
Jigoogdootgdbooodbootdg ggootd
Jguoogo® g™ oottt otdbogd
Jubotdbogtdbtobotdbootdbtgtobotdbotdogd
Juotdbootdbotobbotdbootdbototbobotobotdogd
oo 200dbotgbood oot odod
bbbttt otgdbn
Joodoog3apguoooodoodgo ouboogdon
bbbttt otddond
JO0o0d0oodoooodon 100Testd 0o
Jo0o0doodoooodnid www.100test.com



